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Exercise 1. Express each of the following permutations as products of disjoint cycles (omit
1-cycles).

12345678
a1 5428763
b (12345678910
"\10 9152 786 4 3
1234567809
“\768195 423
(1234567891011
"\1 211 9108674 5 3

Exercise 2. Show that an r-cycle in S,, has order r.

Exercise 3. Let 0 € S,, and suppose 0 = ¢i¢s - - - ¢, where ¢y, ¢a, . .., ¢, are disjoint cycles.

a. Explain why ¢ = Id if and only if ¢]* = Id for all 7.

b. If ¢; is an r;-cycle for each 7, prove that

lo| = lem(rq, 79, ..., 7%).

Exercise 4. Use Exercise 3 to determine the order of each permutation in Exercise 1.



